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[ Development
What is meant by the term development?
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iZi® Country classification

i
What is GNI? Which organisation classifies countries as LICs, NEEs and HICs.

Give an overview of quality of life. What is GNI per capita? Give an overview of LICs, NEEs and HICs.

LICs
Give an overview of economic factors of development.
Fazee: Quiz Attempt:
it .
= Patterns of global economic development
Annotate the map to give an overview of the distribution of HICs, NEEs and LICs.
HICs

B Hic NEE [JLiC

S Quiz Attempt:
H 1. /10 2. /10 3. /10

The Brandt Line

What is the Brandt line?

Why is the Brandt line becoming redundant today?

Quiz Attempt:
1. /11 2. /11 3. /11

Quiz Attempt:
5 1. /4 2. /4 3. /4




The Changing Economic World - Development

www.internetgeography.net/tfcgr

Give an overview of the social and economic measures of
development below. Give a limitation of each.

0. Birth rate
 — 4

Death rate

Infant mortality

=

o} Life expectancy

Human development index
O ?

=
What is the human development index?

Outline three disadvantages of using GNI as an economic
measure of development

What are the advantages of using a composite measure of
development?

Identify the three elements of the HDI.

2 Quiz Attempt:

Quiz Attempt:
5 1. /7

/6 2. /6 3. /6

2. /7 3. /7

% {
R

Label the main features of the demographic transition model then annotate the reasons for changes at each stage, linked

to development.
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Quiz Attempt: : Quiz Attempt:
1. /7 2. /7 3. /7 3 1. /10 2. /10 3. /10




The Changing Economic World - Development

a by L%
..I

www.internetgeography.net/tfcgr

Ol

Causes of uneven development

Zzi=Uneven development consequences
Ol

Give an overview of the causes of consequences of uneven

‘, The Development Gap
P e
Give an overview of the causes of uneven development.

What is the development gap?
development.
0. Physical _‘/‘f@)\’,\/_\ Disparities in wealth and health Give an overview of the strategies used to reduce the
N
<

development gap.
1= Aj !nvestment
)

©

@JQ International migration 5* Industrial development and tourism
& dt:

Economic

o @
% Quiz Attempt:

o

QQ Intermediate technology

Country: Jamaica

Give an overview of how the country is reducing the
development gap through tourism.

Fair trade
i
A ¢ Historical

Debt relief
bfﬁ\/

4("’) Microfinance loans

Quiz Attempt:

Quiz Attempt:
1. /11 2, /11 3. /11

1. /10 2. /10 3. /10

Quiz Attempt:
1 1. /9 2. /9 3. /9
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= Nigeria’s wider context
rhplete the maps to show the location of Nigeria. o Describe the location of Nigeria. Give an overview of Nigeria’s wider context.

il.l Political context

. . . . . [ L 1] 1
Give an overview of global importance of Nigeria. 288 Social context
=™ |
\,

g Cultural context
'l

" Environmental context

Quiz Attempt: i

£ Quiz Attempt:
1. /10 2. /10 3. /10 5 1. /20 2. /20 3. /20

How is Nigeria’s industrial structure changing? How is manufacturing stimulating Nigeria’s economic development?

Discuss the inequality gap in Nigeria.

Quiz Attempt:
1. /6 2. /6 3. /6
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; The role of TNCs in Nigeria

i Nigeria’s changing relationships

(, S\ Give an overview of the role of transnational - Give an overview of how Nigeria’s political £ . Give an overview of how Nigeria’s trading relationships
N5 1 companies in Nigeria’s oil business. jynuf relationships are changing. & J are changing.

. /8 3. /8

eWhat is the environmental impact of oil in Nigeria?

: Environmental impacts
DRt ek

Outlme the types of international aid received by Nigeria. Give an overview of the environmental impacts of

economic development in Nigeria.
%Mining and oil extraction

Why does Nigeria need international aid?
l. What are the advantages of TNCs to Nigeria? y 'ger! : : !

Industrlal development

P

Give an overview of the benefits to Nigeria of receiving aid. —

.’ What are the disadvantages of TNCs to Nigeria?

== Urban growth
wi.of

2 Quiz Attempt: Quiz Attempt:

;1. /2 2. /2 3. /2

. /10 3. /10
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[OIER s 2=
Give an overview of the quality-of-life indicators that have
improved significantly in Nigeria.

Give an overview of how overcoming socio-economic
inequality within the country is Nigeria’s most significant
development challenge.

= Quiz Attempt:
1. /8 2. /8 3. /8

The Changing Economic W

Create a mind map from memory to summarise this topic. When you’re done check your mind map against
these notes and update.
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&

4 "_. Changing economic structure

§Q What does the term industrial structure mean?
&g

DC)) How has the industrial structure of the UK changed?

Quiz Attempt:
1. /6 2. /6 3. /6

|&:yz Outline the main impacts of globalisation on the UK
£ Neconomy.

] Government Policies

& Outline how government policies have addressed
jﬁf economic change in the UK.

F.g}

i, 4 How have traditional industries declined in the UK?

"\ What has been the impact of de-industrialisation on
©=the northeast of England?

@ How has the government responded to de-
&4 industrialisation?

Quiz Attempt:
1. /6 2. /6 3. /6

What is a post-industrial economy?

How has the development of information technology
contributed towards the UK'’s post-industrial economy?

How has the development of service industries contributed
towards the UK’s post-industrial economy?

How has the development of research contributed towards
the UK'’s post-industrial economy?

How has the growth of science and business parks
contribute towards the UK’s post-industrial economy?

www.internetgeography.net/tfcgr
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Environmental Impacts of Industry

[OfFE4]. 5

€§‘ Give an overview of impacts of industry on the physical
YO environment.

l. How can modern industry be more sustainable?

2 Quiz Attempt:

3. /3

The Changing Economic W

£}
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Yy 'I'!
Example: Tor Quarry

Background information:

Quiz Attempt:

:An example of a sustainable modern industrial development

How is the industrial development sustainable?

Social benefits of population growth:

Economic benefits of population growth:

Social problems of population growth:

Economic problems of population growth:

Quiz Attempt:

1. /5 2. /5

3. /5

$£2 Rural population decline

A
Area of rural population decline studied:

Social benefits of population decline:
Economic benefits of population decline:
Social problems of population decline:

Economic problems of population decline:
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developments made in:

ARoad Infrastructure

ERail Infrastructure

e Airports

2. /8 3. /8

#The north-south divide

A
[Offxkiea:

i What is the north-south divide?

@Give an overview of strategies used to reduce the north-south divide.

Jlil What has caused the north-south divide?

255 Quiz Attempt:

20

Create a mind map from memory to summarise this
topic. When you’re done check your mind map
against these notes and update.

Exam Practice

HELER
Apply your learning - scan the QR code and
attempt the exam questions.

The UK in the wider world

s What is the place of the UK in the wider world? What the UK’s links with the wider world?

" Q CRs)
% Trade

g Culture
'l

=S
B @ ztTn:msport

4™\ Electronic Communication
2%

B8 \What are the UK’s links with the EU? A‘:‘:‘o‘:‘ What are the UK’s links with the Commonwealth?
"W

TG

# Quiz Attempt:
i1 /12 2. /12 3. /12
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